[ Efficiency vs vertpos |
~0.05

L T R e T
2 : : 5
20,04 oo R ;
Q . . .
03B | ST FH
9 : : 5
BOOZE | SNt
0025+ {-eeeieeeeeens 2
0.02F |-+ T T i

0015 |- frer |
0.05 |-t + EI
0.005F- |-+ H R A
N S LA, T B I
g +Rf ; i
g
o L
1-—- - - Eoaad E = SRR

o
©
a

107 1

=
2
N

10 0?
TP vertr (cr%)

—=— DQM_TT__ORIGINAL
Efficiend —— poM_TT_ MODIFIED_layerProcv2_PRVersion

~N 1.2

I S S

efficiency vs ver

s o S o

p ey

Ratio

0¥/ —=20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 05
> E E E E ;
0-0.45F -+ preyees AR :

£
175} 0.4
20.35
0.3
£0.25
[J]
0.2
0.15
0.1
0.05

iency

...............................................

................................................

................................................

1.0

Ratio
=

| o
T

10

-5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


